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SHIMOE ER®ROE ERATI0ER D E
£ 3, @3
BHA ] B Ll BRA THoiET~og | TR22(H233115E) FRI3EE
~27TEEEEEE 1 ~224F f(H23.3.10)
LhEM /I 0031  ~ 0050 | 0020 ~  0.069 —
AT HMEERE 0012 ~ 0021 | 0004 ~ 0029 —
LB NEE 0019 ~ 0038 | 0006 ~ 031 —
IR KPFH L 0024 ~ 0039 | 0012 ~ 0039 —
[EE A 0007 ~ 0027 | 0009 ~  0.046 0010 ~ 0042
= [l = 0013  ~ 0024 | 0011 ~ 0041 0.009 ~ 0.048
$at T NHNA FHA 0028 ~ 0050 | 0010 ~  0.049 —
é%gfgfg) Ba/m® 'R KEERT KBy 0006~ 0012 | 0009 ~ 0039 | 0010 ~ 0045
KHERT KR 0008 ~ 0016 | 0011 ~ 0.058 0.007 _~ 0076
R ETIEE 0006 ~ 0017 | 0007 ~  0.036 0.008 ~  0.040
RITHT stHis 0020 ~ 0031 | 0023 ~ 0034 —
JRITHE K#iF L 0029 ~ 0065 | 0025 ~ 0063
PEH B5 0033 ~ 0065 | 0016 ~ 0088 —
miEET SRR 0013 ~ 0025 | 0011~  0.030 —
P MP-1 0012 ~ 0029 | 0008 ~ 0035 0.006 _~  0.030
MP-7 0013  ~ 0025 | 0009 ~ 0028 0.005 ~  0.026
LbhEm /M 0046 ~ 0.067 | 0035 ~  0.084 ~
AT HMEERE 0026 ~ 0036 | 0017 ~ 0047 ~
LEFET NEE 0035 ~ 0057 | 0021 ~  0.047 ~
IR KPFH L 0039 ~ 0054 | 0026 ~ 0054 ~
[EEL A 0025 ~ 0056 | 0036 ~ 1.0 0022 ~ 0072
= [l = 0031 ~ 0046 | 0035 ~ 2.0 0021 ~ 0074
St T NHNA FNA 0043 ~ 0064 | 0024 ~ 0072 —
é%g%ﬁg) Ba/m® 'R KEERT KB 0033~ 0045 | 0033 ~ _ 0.2 0023 _~ 0079
KHERT KR 0098 ~ 0.10 0067 ~ 0.7 0019 ~ 012
RETIEE 0022 ~ 0039 | 0023 ~ 0072 0018 ~  0.068
RITHT stHis 0039 ~ 0052 | 0042 ~ 0059 —
JRITHE K#iF L 0049 ~ 0089 | 0046 ~  0.086 —
PEH B5 0053 ~ 0089 | 0033 ~  0.12 —
miEET SRR 0026 ~ 0038 | 0024 ~ 0044 —
P MP-1 0025 ~ 0049 | 0021 ~  0.061 0.020 ~ 0.058
MP-7 0027 ~ 0045 | 0022 ~ 0051 0019 ~ 0.049
WhEth/MI ND ND —
HBfiT HMEERE ND ND —
éﬂém j/(]\%é;l: ND ND —
N B AR5 L ND ND —
ARRBLA [EEL A ND ND  ~ 580 ND
= [l = ND  ~ 011 0059 ~ 1,100 ND
JIARF_FINA ND ND —
KEERT K% 012 ~ 073 ND  ~ 38 ND
KHERT KR 013 ~ 030 ND  ~ 2.0 ND
WEEET ERLL 012 ~ 029 0.048 ~ 6.5 ND
RITHT stHis ND ND —
SRUTHT KoL ND ND  ~  0.058 —
BEENM 55 ND ND ~  0.070 —
miEET KRR ND ND —
KHERT [A)4H 0090 ~ 011 ND  ~ 0.1 —
KHEERT K% 0079 ~ 0.0 ND  ~  0.093 —
WEEET (LA 023 ~ 077 0089 ~ 0.18 —
P! WEEET Fl 0073 ~ 0.8 0094 ~ 012 —
m= ﬂlig EHE 0095~ 019 | 0078 _~ _ 0.0 ~
_ 3 Ly i JIET ND ND —
Cs7134 | mBq/m BiT BHR ND N~ i =
BT FAtE ND ND  ~ 1.3 —
IR EINA ND ND ~ 1.6 —
EEM %& ND ND  ~ 1.3 —
miEEnm 55 ND  ~ 0059 ND  ~ 045 —
miEET KAF ND ND  ~ 1.3 —
IR FRFER ND ~ 0058 ND  ~ 1.1 —
JIURET IWKRE ND  ~  0.083 ND  ~ 1.3 —
WhEt /MR ND ND —
LWhEm F ND ND —
LWhEh Mg ND  ~ 0.046 ND —
LWhEm =0 ND ND  ~  0.065 —
it &R ND ND —
Bt M5l ND ND —
Hihm % ND  ~ 0035 ND =
miEEh B ND  ~  0.039 ND  ~ 2.0 —
. MP-3 35  ~ 91 43~ 88 ND
RR% MP—-8 15~ 42 16~ 37 ND
= g — MP-1 ND  ~ 0011 ND ~ 036 ND
BEFE= MP-7 ND  ~  0.08 ND  ~ 075 ND




" SHEOHE ER®ROE ERATI0ER D E
HHE4A % B H#E8 HEA
3 ~ SERRX22(H23.3.11 L) ERI3EE
FRL2747~9R ~OEEEIMER | ~225 B (H23.3.10)
WhEm/MI ND ND —
AT HMEERE ND ND —
LEFET NEF ND ND —
BWEH KEZ L ND ND =
[EEL A 014 ~ 032 ND  ~ 520 ND
=R = 016 ~ 044 013 ~ 990 ND
A% _FINA ND ND —
KEERT K% 040 ~ 29 0067 ~ 39 ND
KHERT KR 046 ~ 16 012 ~ 55 ND
WEERT ARl 059 ~ 1.1 010 ~ 7.6 ND
JRITHET #iHE ND ND ~ 0074 —
SRUTHT Kd L 0055 ~  0.18 ND  ~ 017 —
EEN H5 ND ND  ~ 023 —
miEET RiR ND ND  ~ 0072 —
AHREET [M4H 038 ~ 047 026 ~ 041 —
XHRERT K% 028 ~ 045 020 ~ 030 —
WEEE (LH 090 ~ 29 029 ~ 061 —
EEE IRZERT FTIL 031~ 071 030 ~ 047 —
WEE EPE 040 ~ 074 025 ~ 034 —
RRF#HECA | Cs-137 mBa/m® WhE JIET ND ~ 0094 ND ~ 025 -
HiH EHIR ND ND  ~ 1.4 —
LB FAE ND ND ~ 1.8 ND
AR A ND ~ 0.056 ND ~ 23 —
EEM %& ND ~ 024 ND  ~ 15 —
miEETm 5 0.063 ~ 022 ND  ~ 1.2 —
EHEET KAF ND ND ~ 18 —
SREEH IR 0059 ~ 021 ND  ~ 2.1 —
JIHZET LARE 0044 ~ 036 ND  ~ 1.4 —
WhE MR ND _ ~ 0028 ND  ~ 0036 —
Wbzt F ND  ~ 0027 ND  ~ 070 —
WhEth mE ND ~ 0.16 ND  ~ 0073 —
LWhEm = ND  ~  0.089 ND  ~  0.18 —
AT B ND ND  ~ 0043 —
Hih sl ND  ~  0.050 ND  ~  0.050 —
HitH E# ND ~ 0078 ND  ~ 030 —
miEET ER 0063 ~ 0.8 ND  ~ 2.3 —
. MP-3 13~ 36 10~ 200 ND
BE% MP-8 57  ~ 15 26 ~ 67 ND
EEE— MP-1 0020 ~ 0033 | 0022 ~ 055 ND
MP-7 0.016 ~ 0.023 ND  ~ 1.1 ND
WhEM JIET ND ND  ~ 110 —
LWhEh AZE ND ND  ~ 180 —
AT #RER ND ND ~ 540 —
LEET FALE ND ND  ~ 240 —
[EEL A ND ND  ~ 390 —
=@ = [ ND  ~ 16 ND _ ~ 940,000 ND
AR EINA ND ND  ~ 620 —
KHEERT K% ND 16 ~ 5,000,000 ND
Cs-134 [ MBa/km2 =EER eI ND  ~ 58 7.0 ~ 8000 —
JRITHT BIT ND  ~ 25 ND  ~ 910 —
JRITH 2B ND  ~ 60 ND  ~ 940 —
EEM HE ND ND  ~ 2900 —
miEEhm B ND ND  ~ 150 —
miEET &l ND  ~ 8l ND  ~ 37 —
mtanT [RET ND ND  ~ 220 —
IR ND ND __~ 2100 —
BT WhET JIET ND ND  ~ 200 —
LWhEh Azl ND ND  ~ 240 —
HAtT #REE ND ND  ~ 650 —
ILEFET Tt ND ND  ~ 340 —
IR ND ND  ~ 770 —
SRR Ek 35 ~ 74 31 ~ 1,000,000 —
JIARF EJIA ND ND  ~ 880 —
KHEHT KB 41 ~ 94 60 ~ 5600000 ND ~ 013
Cs—137 | MBa/km2 wEE WREEET ERLL 74~ 260 21 ~ 12,000 ND  ~ 015
SRITHT SRIT ND  ~ 110 ND  ~ 1,900 —
RITHET 25 41 ~ 210 60 ~ 1,100 —
BEER #FE ND  ~ 76 24 ~ 4200
BEET 55 ND ~ 50 ND  ~ 1,400 —
mEET t&8iE ND  ~ 340 ND  ~ 600 —
mEET R ND ND  ~ 350 —
fREEH FFR ND ~ 83 ND  ~ 680 —
NIRRT LIARRE ND ND _ ~ 4000 —




SHIMOE ER®ROE ERATI0ER D E
BUbE wa Mé e BRE TRR274ET~9H ERR22 (H23.3.11 L0 [8) ERISEE
~27TEEEEEE 1 ~224F f(H23.3.10)
WhEm ND ND —
EESh ND ND —
L E7ET ND ND ND
HREEE] ND ND ND
= [ BT ND ND ND
JIRA ND ND ND
Cs-134 Ba/0 EBR ABE - - ND
MEERT - - ND
JRITHET ND ND ND
EEM ND ND —
ST ND ND —
EREEA ND ND  ~ 017 —
JIH{Z BT ND ND -
LWhEmh ND ND -
BFH ND ND —
L E7RT ND ND  ~  0.050 ND
[EEN ND ND ND
= el BT ND ND  ~ 0057 ND
NIRF ND ND ND
K Cs-137 Bq/2 EEE A BERT - - ND
MEERT - - ND
SRITHET ND ND  ~  0.058 ND
BEER ND ND  ~  0.058 —
EEEh ND ND -
BREEFT 0.11 ND  ~ 0.29 —
JI{ZET ND ND —
LWhEH ND ND  ~ 0.72 —
B ND ND  ~ 0.79 —
ST ND ND  ~ 0.75 ND  ~ 1.0
[TE0 0.52 033 ~ 096 ND ~ 098
= [t BT 0.45 ND ~ 045 ND  ~ 099
LS ND ND ~ 057 -
H-3 Ba/2 =EER A HEHT - - ND  ~ 12
IEERT - - ND  ~ 1.1
SRITHT 0.34 ND ~ 087 ND ~ 1.0
EEMH ND ND ~ 069 —
EliEh ND ND ~ 051 ND ~ 082
ERERH 0.55 050 ~ 087 —
JI{Z BT 0.34 ND _~ 090 —
F—FmBkO ND ND _~ 080 ND
F—F)dBoko ND  ~ 021 ND  ~ 2.4 ND
F—F)EUkO ND  ~ 022 ND  ~ 096 ND
EEE F— ()P E2km ND ND ND
- F R - BE)IH2km ND  ~  0.067 ND  ~  0.094 ND
WEE - /i )1 2km ND ND =
n E_(F)mmBokO ND ND  ~ 020 ND
Ce7134 | Ba/k %= () LEkD ND N ~ 012 ND
ok O 0.13 0041~ 45 ND
BEEE— BRUKO R 0.083 ND _ ~ 76 ND
LRk AR 0.12 ND ~ 8.2 ND
kO ND ND ~ 0.36 ND
w/E®- Eka ND ND  ~ 035 ND
ek O ND ND  ~ 0.23 ND
F—FmBikO 010 ~ 015 ND  ~ 1.8 ND  ~  0.002
F—F)dtmokO 012 ~ 10 ND  ~ 5.0 ND  ~ 0.003
F—FEUKO 0087 ~ 083 ND  ~ 2.1 ND  ~  0.002
P! E—F)iPE2km ND  ~ 0.054 ND  ~ 013 ND  ~ 0.002
- KR - BE)I1H2km ND ~ 031 ND  ~ 018 ND  ~ 0.002
mﬁ-ﬁﬁﬂ%léq:ﬁkm ND ~ 0.082 ND  ~ 019 ND  ~ -
" FZEmBukO 0.076 ND  ~ 020 ND  ~ 0.003
K Cs=137 Ba/t Z—Godiuko 0.12 ND _ ~ 013 ND___~ 0002
_ ok O 0.56 020 ~ 72 ND  ~  0.003
BEE— ARk fHE 0.22 ND  ~ 110 ND ~ 0.003
LRk AR 0.50 ND ~ 13 ND  ~  0.002
BukO 0.076 ND _~ 070 ND  ~ 0.003
w/E®EZ mErokO 0.061 ND  ~ 1.1 ND  ~ 0.003
ek O 0.069 ND  ~ 047 ND  ~ 0.002
F—FmikO ND ~ 055 ND  ~ 2.4 ND ~ 055
F—F)dtmokO ND  ~ 19 ND ~ 25 ND ~ 12
F—FERKO ND  ~ 26 ND  ~ 6.2 ND ~ 058
P! F—(F)HPE2km ND ND ~ 058 ND  ~ 067
- FiR - BE) I 2km ND ND ~ 053 ND  ~ 041
WEE - Fil )1 2km ND  ~ 047 ND  ~ 091 -
H-3 Bq/2 & Z(Gmmokn ND ND _~ 056 ND ~ 076
FE G4mO ND ND ~ 056 ND  ~ 11
_ ok O 0.75 ND ~ 340 ND  ~ 067
BEEE— BRUKO R ND ND _ ~ 6.8 ND  ~ 055
LRk AR 15 ND  ~ 98 ND  ~ 062
kO ND ND ND ~ 057
BEE= EokO ND ND ND___~ 077
JeikO ND ND ND  ~ 047




" SHEOHE ER®ROE ERATI0ER D E
S 4 3 s
B e e BRE TRR274ET~9H SERZ22(H23.3.11 LARR) SERI3SEE
~27TEEEEEE 1 ~224F f(H23.3.10)
F—F)mmpokO 0014 ~ 0037 | 0003 ~  0.69 —
E—F)dmBokO 0003 ~  0.76 0.002 ~ 0.78 —
F—F) UKD 0002 ~ 0.68 0.002 ~ 2.9 ND  ~ 0.002
=B F—(F)H & 2km 0001~ 0002 | 0001 ~ 026 —
- FiR - BE I 2km 0002 ~ 0009 | 0001 ~ 0.027 —
nﬁ-ﬁﬁ%gﬁfkm 0001~ 0002 | 0001 ~  0.094 —
_ F_FmBokO - 0.001T _~ 0034 —
Sr=90 Ba/ %= (3itHko = 0001 _~ 0033 =
~ Bk O - 021 ~ 21 0.001 __~ 0.003
wEE— MUK AR - 0005 ~ 0031 0.001 __~ 0.003
ROk R - 0017~ 12 —
_ Bk - 0.001 _~ 0014 0.001 __~ 0.002
wBEEZ Eroka - 0002 ~ 0012 —
ek - 0002 ~ 0011 0.001 __~ 0.003
K E—(F)mmkO ND ND —
F—EF)dmokO ND ND —
%’—gé)ixzkn ND ND —
- ARl F—(F)HE2km ND ND —
Pu=238 mBa/2 maR FR - BE)IH2km ND ND =
WEE - A H2km ND ND —
FZEFmBokO - ND —
FE_(ZF)dmokO - ND —
F—FmBkO 0.006 ND  ~ 0014 —
F—F4doko ND ND  ~ 0.4 —
%’—gé)iszkn ND ND  ~ 001 —
_ =& e F—F)HE2km ND ND  ~  0.009 ND  ~  0.009
Pu-239+240| mBa/2 ek %R - BE)IH2km ND ND___~ 0008 =
WEE - BT H2km ND ND ~ 001 =
F_FmBokO - ND  ~ 0011 —
F£_(F)dmoukO ~ ND ~ 002 —
E—F)mBukO 86 76 ~ 210 ND
F—@Fdoko 79 78~ 290 ND
F—F)EUKkO 140 130~ 450 ND
meE F—(F)iH & 2km 10 76  ~ 130 ND
- %ﬁfﬂ'ﬁﬁ“li‘l’;km 9.9 11 ~ 60 ND
- INEE - BT H2km 11 8.1 ~ 75 —
Co134 | Ba/kefs % —(FmmkO 27 33~ 220 ND
F_(F)dmokO 19 18 ~ 74 ND
EEE— EROK O A 56 65 ~ 1200 ND
deioK O 4k 73 72 ~ 710 ND
EEE— kO 29 32~ 200 ND
ek 17 17 ~ 140 ND
F—FmBokO 350 210~ 580 ND
F—F)dmBokO 320 280 ~ 580 ND
F—F)EUkO 580 470 _ ~ 1,000 ND
P! F—(F)iH & 2km 43 28~ 380 ND
- *ﬁfﬂ'ﬁﬁ“li‘l’;km 41 37 ~ 150 ND
_ FEE - i E 1 2km 42 30 ~ 240 —
Co137 | Ba/keft % —(FmmukD 110 130~ 470 ND__ ~ 03
F_(F)dmokO 76 68 ~ 150 ND
EEE— EROK O A 220 210~ 1,800 ND  ~ 065
ek O R 290 270~ 1,100 ND
EEE— Esoka 120 120~ 360 ND ~ 06l
ek 66 65 ~ 250 ND ~ 062
%’—(;)ig;ﬁ =] 0.42 ND  ~ 049 —
5 F—EF)dmokO 0.34 ND  ~ 036 —
BELRY F—F)EwkO 1.3 ND  ~ 1.2 ND
EeE E—F)HE2km 0.35 ND ~ 032 ND
- %ﬁ;‘R : ﬁ?‘.llliqﬂékm 055 ND ~ 024 ND
_ W - Bl 2km 0.24 ND  ~ 0.26 —
Sr90 | Ba/kefL % —(mBkO - ND___~ 021 =
%’; ];;é Jeiak 0 - ND  ~ 19 —
= oK O {6 - 32 ~ 22 ND  ~ 017
RR% SEHOKOE = 21~ 19 =
= g — kO - ND —
RR%E- JeHokD = ND ND__~ 015
F—FmBkO ] ND =
F—F)dmokO ] ND —
%’—(%%)iy;kn ] ND =
- A =R=] F—F)F A 2km h ND —
Pu-238 | Ba/kekt BN %R B )1 2km : ND =
WEE - AT 2km h ND  ~  0.020 —
£ ZFmBokO ND =
FE_(F)dmokO ND —
E—F)mBokO p 0080 ~ 032 —
F—E)dmBokO h 0090 ~ 032 —
%’—gé)iszkn p 027 ~ 032 015 ~ 043
_ = F—(F)HE 2km h 035 ~ 057 028 ~ 048
Pu=239+240| Ba/keft Rk xR BEJI[R2km g 034~ 044 =
WEE - A 2km h 031~ 049 —
£ _F)mBokO - 025 ~ 031 —
F-Fdemokna - 014 ~ 026 —
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3 ~ SERRX22(H23.3.11 L) ERI3EE
FRL2747~9R ~OEEEIMER | ~225 B (H23.3.10)
WhEH AZE ND ND  ~ 19 —
HATH &8 ND ND  ~ 26 —
EPET _EdbE ND ND  ~ 95 ND
[FEL V- 90 50 ~ 300 ND
=BT FERLL 210 32~ 240 ND
NAF ENA ND ND  ~ 12 —
_ ARERT KR 1000 360  ~ 3,900 ND
wEE KEERT KR 210 ND  ~ 440 ND
TUEERT AL 91 190~ 2100 ND
Cs-134 Ba/kg4E SRITHT JbsiHis ND ND —
EER #E 15 26 =
miEET AR ND ND  ~ 52 —
REERT BRTF 52 130~ 570 —
REEN RIE 61 52 ~ 520 —
JIRET ILARE 12 20 ~ 140 —
P MP—3{HiE 400 330 ~ 27,000 ND
BEEERE 440 580 _~ 220,000 ND
EEE— BIER{TR 5.0 11~ 12,000 ND
wa JLERAHR 14 24 ~ 17,160 ND
LWhEh AZE 12 ND  ~ 41 —
HAT &8 ND ND  ~ 55 —
BT _EitE 71 9.0 ~ 190 ND  ~ 1.2
[FEL - 380 110~ 870 ND ~ 092
=R TANL 840 120~ 520 ND  ~ 004
NMW# ENA ND ND  ~ 29 =
B KEEET KR 4,200 1300 ~ 8400 ND  ~ 007
=EER KEERT KR 110 40 ~ 990 ND ~ 008
IEERT ERLL 370 770~ 4500 ND  ~ 0.4
Cs-137 Ba/keE JRITHET JpstHis 30 17 -
EEM #E 46 96 —
miEET AR ND 12 ~ 120 —
BREEA FBRT 210 440 ~ 1,100 —
REEH RIE 280 210~ 1,000 —
JIHRET (WKER 53 71 ~ 310 —
EEE— MP—3{HiE 2,100 1300 _~ 39,000 ND  ~ 004
BEEEEME 1,700 1400  ~ 310,000 ND  ~ 0.14
EEE— FER TR 18 28 ~ 17,000 ND ~ 005
_ LR R 62 71 ~ 22840 ND __~  0.06




SHEOHE ER®ROE HRAT104ER D IE
HHE4A % By H#E8 HEA
5 ~ SERZ22(H23.3.11 LARR) SERI3SEE
FRL2747~9R ~OEEEIMER | ~225 B (H23.3.10)
Dh=mh A2k - 4~ 100 =
AT &8 - 220 ~ 1,300 —
LEPET TF4bE - 140~ 2,100 ND
RIERT RE - 560 ~ 3,800 ND
=B /VE - 10 ~ 12,000 ND
JIIRA EJIIA - 73 ~ 330 —
KHEEHT KR - 30,000 ~ 230,000 ND
Ba/kgi =EE WEEET ERiL - 2,700 ~ 43,000 ND
JRITHT JbiHis - 300 ~ 1,600 ND
EEH E - 1,600  ~ 6,000 —
miEEhm ER - 130 ~ 4400 —
Cs-134 miEET Bi5 - 1,700  ~ 9,200 —
fREEH BRE - 230~ 11,000 —
REEM RIE - 2900 ~ 7,800 —
NRET LKE - 180~ 2,100 —
Bt - 11,000  ~ 330,000 ND
EEE— REERT & E - 4900 ~ 78,000 ND
= ABERTEE)I] - 25000~ _ 69,000 ND
TREERTER L - 1,300 ~ 2,300 ND
Ba/kefz BN - 490~ 3200 ND
ERE= WERLRE - 970  ~ 2,100 ND
RS — = AT /NE - 1400~ 2400 =
= [l BT T &Rl - 91 ~ 9,000 ND
Wh&Eth AZIE - 130~ 230 —
BT &8 - 1,100 ~ 1,600 —
LEPET TFdbE - 170~ 3,200 ND
[EEL - 2,000 ~ 6,800 ND
= REAT /NVE - 32 ~ 17,000 ND
AR _EINA - 200  ~ 1,200 —
KHEEHT EKiR - 100,000 ~ 310,000 ND
Ba/kgi® =EER ELIEE - 3,100  ~ 59,000 ND
RITHT JbtHis - 1,100  ~ 1,900 ND
EER tHE - 4600 ~ 24,000 —
miEET AR - 190~ 13,000 —
Cs—137 EiEET 55 - 6,100 ~ 14,000 —
REENT BRE - 770~ 26,000 —
REH EIE - 12000 ~ 28,000 —
JIHRET (WKER - 2400 ~ 5300 —
Eih A - 220,000 ~ 680,000 71~ 28
EEE— REERT & E - 11,000  ~ 170,000 24  ~ 15
= A HERTRE)I - 59,000 ~ 100,000 11 ~ 14
FEERTER L - 2600 ~ 3700 924 ~ 15
Ba/kekt BibA - 1200~ 7000 11~ 12
EEE— WERLRE - 1,900 ~ 3,600 63 ~ 12
mEm— = fE BT /NE - 4300~ 6,700 =
=[BT TR - 350 ~ 15,000 78~ 15
REt Hith N - 66 ~ 210 0.77 2.1
EEE— j(jngTET-Fﬁf: - 7.2 ~ 13 —
RERTRE)I - 14~ 11 —
- IEERTERLL - 41 ~ 7.7 —
Srm90 | Ba/kefz bR - 19~ 39 2 28
= s — WERLRE - 25 ~ 44 —
LLES = EET/NE - 25 _~ 55 =
E AT T ERLL - 059 ~ 2.4 —
Hith N - 0061 ~ 0.1 —
EeE— REERTFEr.E - ND —
RHERTAE)II - ND —
_ IREERTERLL - ND —
Pu-238 Ba/keg§z A — ND —
o s — WERLRE - ND —
LLES = EET/NE - ND =
Elﬁlﬁlﬂrﬁrﬁm - ND —
A - 019 ~ 022 —
EEE— PN EN A - 024 ~ 031 —
KHERTAE)II - 022 ~ 025 —
Pu-239+240 | Ba/ke®, ﬂ;;ﬂéﬁgm - 8-?? ~ 8-?2 -
EEE— m%gﬁ]ﬁ% - 0.28 = 0.31 -
= [ BT /N E - ] —
=BT AR - 024 ~ 028 —
Eih A - 012~ 1.2 —
EEE— REEBT & E - 019 ~ 068 —
K HERTHE)I - 018 ~ 045 —
Am-241 Ba/kels X)Zi;ﬁéism - 016 ~ 098 —
- 0098 ~ 041 —
EEE— m%gﬁ]ﬁ% - 0.088 0~] 0.36 —
- = [ BT /N E - 15 —
=[BT AR - 0097 ~ 043 —
ith i - ND —
5 o HERT & - ND —
BEE— ARE T
KEERTEE)I| - ND —
_ FEERTER L - ND =
Cm-242 Ba/keg§z bR — ND —
o g — WERLRE - ND —
LLES EEET/NE - ND =
?E:EJ%ETJEM - ND —
A - 0019 ~  0.049 —
EESs— KEERTTEE - ND —
= A RERTRE 1] - ND =
IEERTERLL - ND =
Cm-244 Ba/kgkz A — ND —
=R mﬁﬁ&% - ND _
wa%E= = R/ E = ND =
ND

& [ T 250
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